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86a (7 mwn) > 87a (K5 85N PR )T 1775 1259 IN)

I 7 mwn: Three types of invalid pv2 that, nonetheless, if she remarries and has children, they are not n»™n
a  Writer: if the husband wrote it himself and there are no o7y
b  jpr if there are n»1y but no date
¢ 7nx 7v. there is 01 but only one witness
d  ~7even if there are no 07y signed on, as long as he gave it to her in front of o1y, it is valid
i And: she can collect (n21m3) from encumbered property, since 07 only sign a vi for 0”1 PPN
1 Practicum (37): we rule like ™ in V23 (’n13 noNn *1Y) and HYRINY extended that to all mvw
(a) Challenge: doesn’t 21 rule like X" in all mYVWYW? ®™'’s ruling in our nwn includes oY1 N»ax
(i) Answer: 11 didn’t accept X"’s opinion beyond 102
(ii) Note: 9”27 agreed with 17; '8y "7 claimed that such a vy doesn’t even have "oan n” (defined below)
1. Clarification: 8y "7 means that according to 112, this V3 doesn’t even have vin n» (517" parallel)
(b) Numerous accounts: stemming from 17 Y» W11 n°a — that 21 ruled in accord with 8" for pv»
e  Challenge (‘n): there are other 0’5105 0% where the subsequent children aren’t o7mn
i jw va(if they had 12 afterwards): different — in that case, she needn’t leave the 2°¢ husband, here she must
1 Block: that is only valid according to opinion (below) that in our case, she has to leave 2*¢ husband
2 Defense: 1v> 031, she may marry n2nna%
it nmp va(ifa WP vIwas missing a witness): different — in that case, it is utterly %108 (> n10N)
1 Block: that's only true according to n™; to o'non, it isn’t Tay*12 H108
2 Defense: in that case, she must leave the husband
(a) Challenge: in our case, there are some who maintain 8x¥n as well
(b) Answer: we aren’t referencing a 1 pn V)
iii  mbn oo (if vais written using a different reference point for date): different — in that case, ®xn
1 Block: in our case, there are some who say &rxn
2 Answer: our mwn follows n™, who, in case of ma5n 0w, renders child a 91N
f  Inferences: the 1t enumeration excludes these 3 %108 Pv2;
i 2" enumeration: excludes (per n”) v3 from >"nTn w/o “1791 1"92“> the child of subsequent marriage is a 71n
g 37 the case in our mwn is if written by the husband
i Must be: last case (1°t case is explicit; 274 case doesn’t need it as there are n»1) 1 1y sufficient only if y1> an32 ans
1 However: if written by a 9970 and only 1 7y — invalid
h  Snxpw even if written by 1910 and there’s one witness — valid, per nawn “9w3 7 1990 205"
i 37inthat case, there were 2 o1y ("% 1910 DnN”) — and she may marry n%nna%
ii  Swmpw true if it is an expert 1910; else, it falls under the rubric of our mwn
1 Support: 13nv "1 reads that nawn as 9910 an> (not 1990 bnN) —i.e. only 1 witness
II'  Ruling on cases in our niwn if she remarried but didn’t yet have children
a 27 sometimes would rule R¥n, sometimes R¥n 8
i Resolution: if she had children — xx¥n RY; if she didn’t yet have children — x¥n
ii  Challenge (777270 92 X701 71): re: the 15 N7y who exempt their mAx from o12»; ruling that if one had ywyTp pav or
PV pav (our 3 cases are used as examples), mx9n but no ma».
1 Butif: we rule that R¥n &5 (i.e. V3 judged to be valid), 9% may be nna»nn (violating My nIx)
2 Defense: it really is a vy and the wwn is a “mere” 132297 WWn > 111” wouldn’t constitute a violation
b  7%in any case, she doesn’t leave 274 husband (similarly, janv ", along with ruling re: bird drinking from nxon ')
I »n mwn: swapped and combined v
a  If:2identical v’ were sent by 2 men and they got mixed up together
i Then: both must be given to both wives
1 Therefore: if one is lost or destroyed, the 24 is unusable (by either)
2 Observation (712077 77): this is contra R™
(a) Argument: per 8™, since 113 nPon *1Y, the witnesses don’t know which is divorced with which va
3 Dissent (»2a8): could even follow X"; perhaps he only requires nnw» n1'n3, not NHWY NImMm
b If: 5 wrote a vy under one heading (A divorces Al, B divorces B1 etc.) and the witnesses are below
i Then: all are valid and it has to be given to each of them
¢ But if he wrote the form for each and the witnesses are below
i Then: only those whose names are read with the witnesses are valid
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IV Analysis of 274 clause — difference between 993 (1 heading) and vaw (for each)
a a7 if there is a single date for all 5, that is 5%3; if a date for each (even if same date) va1 for each
b 577 only if written as a single writ (e.g. Husbands A, B and C divorce wives Al, B1 and C1) is it 593, else — 0210
i Challenge (xax 77): why isn’t »"1 concerned that the o1y are signing on the last one (only)
1 Support: v:0 Y% "o — if DY are signed on a W1 which is at the bottom of a vy — it is 5108
(a) Reasoning: we are concerned that they only signed the w™7, not the v»
2 Defense (1725 *7): > commented on w"7-case, if the 70w stated “19Rv”, invalid; but 58wy is valid
3 Similarly: our v states A and B and C etc.
ii ~ Challenge: according to ™, why does 2" case have limited validity due to 810 — why not due to pre-dated vx?
1 Answer: if each name states (e.g.) Sunday, Sunday etc. — same date as last one, to which o1y are signed
iii ~ Challenge: 9"'s 953 seems to fail due to a case of 2 women divorced with one i (contra implication of 190 1% an2")
1 Answer (’wn 79): afterwards, it lists each couple separately
2 Block (»wx "15 81227):if someone gifts all of his property to his 2 slaves, the ip is valid and they free each other
(a) In other words: a 1MW 70w (parallel, via n%::n% to a V) can free 2 slaves
(b) Answer: we’ve already interpreted that Xn»91 as referring to 2 separate m 0w
iv  Supporting m711: for each approach
1 pnp 7 if 5 are written in one v with one jnt and p>7 below — all valid and it must be given to each woman
(a) But if: there is a separate 0t for each, only the ones next to the o1y are valid
(i) Dissent: Rvna 12 N 1 — only if there is a break between them, invalid; if not — all are valid
1. Reason: 11 is not a break
2 w5t if 5 are written in one V3
(a) Assuch:"we, A, B and C divorced our wives Al, Bl and C1; A divorced Al, B divorced B1 and C
divorced C1” and there is one jnt for all of them and the 01y below
(i) Then: all are valid and the V) must be given to each woman
(b) But if: there is a jnt for each and a space between each of them and the o1y signed below
(i) Then: only the one next to the oy is valid;
1. Dissesnt: n"1 — even if there is no space between them, the nt is an interruption
(c) Question: why does 9" require a separate jnt —he even ruled that 1 jn1 for all is a 0a0?
(i) Answer: that’s only if they weren’t mixed into one list at first
1. However: in this case, they were originally mixed together
a. If eachis given its own jn1, it is a separate V3
b. If: there is one jnr for all, it is all one v and valid for all 5
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